



# MAX FORTUNE 1 ULTRA

A structured participation model offering shares, cashback, and multiple income streams through referrals and team building.

**Smart Growth | Trusted System | Better Future**

[www.maxfortune1ultra.pro](http://www.maxfortune1ultra.pro)

[info@maxfortune1ultra.pro](mailto:info@maxfortune1ultra.pro)



# INTRODUCTION

## About Max Fortune 1 Ultra

Max Fortune 1 Ultra is a modern and premium digital platform designed to provide users with structured opportunities, smart growth systems, and a reliable digital experience.

The platform focuses on transparency, trust, and long-term value creation.

### OUR VISION

- To create opportunities for individuals to grow digitally
- To build a trusted and transparent platform
- To promote smart systems with long-term benefits
- To empower users through technology-driven solutions

### OUR MISSION

- To deliver a simple and user-friendly platform
- To provide clear processes and guidance
- To focus on sustainable growth models
- To support users with continuous improvements



# KEY FEATURES

## Platform Features

- Easy-to-use digital interface
- Secure and reliable system
- Transparent operations
- Regular updates and improvements
- Premium user experience

## Benefits for Users

- Simple and smooth process
- Flexible participation
- Growth-oriented structure
- Secure digital environment
- Long-term platform value

## Why Choose Max Fortune

- Trusted digital platform
- Professional and premium branding
- Well-structured system
- User-focused approach
- Transparent working model

## TECHNOLOGY & SECURITY

Advanced digital infrastructure   Data protection and security measures   Smooth system performance   Regular monitoring and maintenance



# FUTURE ROADMAP OF MF1 TOKEN

## Phase 1 – Platform Strengthening (2025)

- Strengthening the Max Fortune 1 Ultra ecosystem
- Expanding platform users and engagement
- Improving system performance and reliability
- Building a strong community foundation

## Phase 2 – MF1 Token Development

- Designing the MF1 Token with long-term utility
- Integrating the token into the Max Fortune 1 Ultra ecosystem
- Ensuring transparency and sustainable token structure
- Preparing technical and operational readiness

## Phase 3 – MF1 Token Launch (End of 2026)

- Official launch of MF1 Token
- Introduction of the token to the digital ecosystem
- Initial adoption through platform usage
- Gradual rollout with controlled growth strategy

## Phase 4 – Token Marketing & Awareness

- Strategic marketing campaigns for MF1 Token
- Community-driven awareness programs
- Digital promotion and ecosystem education
- Building trust and visibility in the market

## Liquidity & Market Support

- Providing liquidity support for the MF1 Token
- Strengthening token stability through planned liquidity strategies
- Ensuring smooth market participation
- Supporting healthy token circulation

## Phase 6 – Long-Term Vision

Expanding token utility within the ecosystem  
Continuous improvements and upgrades  
Building strong market confidence over time  
Positioning MF1 Token for long-term growth and scalability

MF1 Token is designed with a long-term vision, focusing on ecosystem growth, market stability, and sustainable value creation.



# PLATFORM ENTRY PLAN

Joining Starts From \$100 Only

 **100** Only

## Entry Plan Overview

Joining the Max Fortune 1 Ultra platform begins with a entry value of \$100, designed to make participation simple and accessible. This entry plan allows users to become part of the ecosystem and access platform features in a structured and transparent manner.



# WHAT YOU RECEIVE

## MF1 Token

Participants qualify for MF1 Token Eligibility, where the asset value is directly tied to company performance milestones. Upon meeting criteria, users will receive an allocation of MF1 tokens valued at \$100.

## 24-Month Cashback

"After an initial 12-month cliff, weekly disbursements of \$3 will commence for a duration of 24 months. This results in a total payout of  $96 \times 3 = \$288$

## Six Income Categories

Earn through MF1 Token, cashback, referrals, daily levels, royalty, and salary programs.

## Team Structure Benefits

Build a network across 10 levels to maximize earning potential.



# DIRECT REFERRALS

\$25

Per Referral

Earn \$25 for every direct referral who joins with \$100.



∞

No Limit

Unlimited earning potential through direct referrals.



# DAILY LEVEL INCOME

Earn daily income from a 10-level team structure with rates varying by level.

Level	Members	Rate/day	Daily Income	30-Day Income
Level 1	10	\$0.10	\$1	\$30
Level 2	100	\$0.10	\$10	\$300
Level 3	1,000	\$0.10	\$100	\$3,000
Level 4	10,000	\$0.10	\$1000	\$30,000
Level 5	100,000	\$0.10	\$10,000	\$300,000
Level 6	1,000,000	\$0.10	\$100,000	\$3,000,000
Level 7	10,000,000	\$0.10	\$1,000,000	\$30,000,000
Level 8	100,000,000	\$0.10	\$10,000,000	\$300,000,000
Level 9	1,000,000,000	\$0.10	\$100,000,000	\$3,000,000,000
Level 10	10,000,000,000	\$0.10	\$1,000,000,000	\$30,000,000,000

Actual income depends on real team size and activity, not projected examples.

### The Calculation:

- Total Ecosystem Value: \$33,333,333,330
- 1% Achievement Reward: \$333,333,333



# ROYALTY INCOME

## Qualify with 15 Directs

Achieve 15 direct referrals to become royalty-eligible.

## Pool Contribution

Every platform login contributes \$5 to the global royalty pool.

---

## Equal Distribution

End-of-month pool divided equally among all qualified members.

**Example:** 1,000 logins × \$5 = \$5,000 pool ÷ 10 qualified members = \$500 per member





# MONTHLY SALARY INCOME

Qualify with 15 directs and specific team sizes for fixed-duration monthly salaries.

Team Size (10 Levels)	Monthly Salary	Duration
250	\$50	2 months
500	\$150	3 months
1,000	\$350	5 months
2,500	\$500	6 months
5,000	\$1,250	8 months
10,000	\$2,650	10 months
15,000	\$3,800	15 months
25,000	\$6,000	20 months
50,000	\$12,000	30 months



# MONTHLY OFFERS

## Silver, Gold, Trips and Cashback





**Thank you**

**MAX FORTUNE 1 ULTRA**

[www.maxfortune1ultra.pro](http://www.maxfortune1ultra.pro)

[info@maxfortune1ultra.pro](mailto:info@maxfortune1ultra.pro)